Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Strijckers Jean-Vandeweerd Geert 2 Herczeg Egidy-De Rose Lucio 1 2 14 0 50 0O5R-1 8 6 100 04H-2 12 2 80 ZlH= 13 1 200 W3N-
3 Snoeks Leon-Otten Joop 4 Terlaak Roy-Lang Yvonne 15 16/ 0 14 -460 03N+‘2 14 0 670 N3R!‘: 2 12 -150 ZZN-‘3 6 8 100 W3N—1‘
5 Dirickx Anny-Vandenbroek Theo 6 Dreier Wolfgang-Lampole Christiane 10 11 5 9 -430 W3N+f 0 14 -140 OSHJ 14 -380 OlN;+ 6 8 100 W3N—f
7 Schoups Guy-Smith Stuart 8 Hendrikx Nicole-Vanstreels Frans - 5 9 -430 W3N+1 8 6 100 04H-2 7 7 -100 ZIN-2 6 8 100 W3N-1
9 Eertmans PauI—C?uwenbergh Freddy 10 Sliepen Arnold-Volders Omer 3 12 5 9 -430 W3N+f 2 12 -110 01HJ1 10 4 -90 W2R= 6 8 100 W3N—f
11 Agten Guy-Terwingen Guido 12 Parthoens Georges-Engelen Eddy \ [
13 Briers Jaak-Briers Frans 14 Mesotten Louis-Palmans Jaak 136 5 9430 03N+% 4 10 50 OSH_% 4 0 110 ZZH? 6 8 100 WSN_%
15 Wenmackers Lucien-Venken Gerard 16 Latour Jean-Van de Vloed Johan 9 14} 10 4 -190 02K+§ 12 2 140 stﬁl 10 -130 W2R+% 0 14 -600 WSNﬁ
8 12 2 -130 OSRfl 8 6 100 O4H—2 7 7 -100 ZZN—Z 13 1 200 W3Nf
NZ OW| gift 5 NZ OW gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow NZ OW| gift 9 NZ OwW gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 ]12,7 1,3 50 wW3s-1 12 2 100 O2N-1 9 5 90 N1K+1 6 8 -90 W2R= 5 1 13 420 N4H= 7 7 -210 OIN+4 8 6 -400 O3N= 12 -490 OS5N+
12 15| 12,7 1,3 50 OZNJl 6 8 -120 OlN+f 5 9 -90 OIN= 2 12 -140 02H+1 14 1 8 6 450 N4H+f 12 2 -130 WZKJZ 8 6 -400 O3N= 8 -460 W3N+£
16 13| 0,1 13,9 -500 N4K;- 12 2 100 OlKJl 14 0 300 W1iH-3 13 1 100 O4R12 8 15 8 6 450 N4H+f 7 7 -210 W1N+J 8 6 -400 O3N= 13 1 50 W6NJ
9 | 5,9 8,1 -110 02R+f 12 2 100 OlKJl 5 9 -90 OIN= 9 5 50 WZN—f 16 11 8 6 450 N4H+f 1 13 -240 WlNJS 14 0 100 O3N-2 13 1 50 06NJ
5 14| -1 -1 0 W1N+f 2 12 -150 NlNJ3 0 14 -110 W1H+1 4 10 -120 W2N= 2 8 6 450 N4H+f 7 7 -210 OlN+J 8 6 -400 O3N= 9 5 -450 W4S+f
8 | 9,3 4,7 0 PAS 6 8 -120 OlN+f 12 2 100 WZHJl 9 5 50 W3K-1 10 1 13 420 N4H=‘ 1 13 -240 OlNJS 1 13 -430 O3N+1 2 12 -490 WSNJ
11 5,9 8,1 -110 W2S= 6 8 -120 OlN+f 12 -100 NlNJl 13 1 100 OSHJZ 13 4 14 0 480 N4H+E 14 0 -110 OZH; 1 13 -430 OSNJl 9 5 -450 O4S+f
7 10| 2,4 11,6 -150 OSRfZ 0 14 -170 03841 9 5 90 N1K+£ 0 14 -500 N3HQ-3 9 12 8 6 450 N4H+£ 7 7 -210 OlN+4 8 6 -400 W3N= 2 12 -490 WSNQ
NZ Ow| gift 13 NZ OW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW NZ Ow| gift 17 NZ OW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
8 6 100 O3R-1 3 11 -140 W2H+1 6 8 100 04S-2 2 12 -100 NIN-2 9 10 1 13 -50 N4H-1 4 10 -450 04S+1 5 9 420 z4H= 8 6 110 N2S=
3 11 -100 N4SJl 3 11 -140 WSHJ 3 11 -140 OZSJl 14 0 120 NlNJl 8 6 140 N2H+f 4 10 -450 O4S+f 5 9 420 z4H= 0 14 -100 N2S-
10 13 3 11 -100 N4SJl 8 6 -50 ZSR—f 10 4 850 ZSH!; 5 9 -50 N1N—f 12 8 6 140 N3H= 12 2 -420 O4S; 11 3 450 zZ4H+1 6 110 N2S=
15 4 8 6 100 OSR—f 13 1 150 NZNJl 0 14 -200 N5K;— 0 14 -150 NlNJ3 11 1 13 -50 N4H-1 4 10 -450 O4S+f 5 9 420 z4H= 2 12 90 NIN=
9 16 14 140 N3$=‘ 13 1 150 NlNJZ 12 2 950 N5K;+ 10 4 90 NIN= 15 14 4 10 50 WSS—f 4 10 -450 05S= 11 3 450 z4H+1 14 0 140 NZSJ
12 12 2 110 N3K=‘ 3 11 -140 WSHJ 3 11 -140 OZSJl 5 9 -50 NIN-1 16 14 0 420 N4H=‘ 12 2 -420 04S= 14 0 480 Z4HJ2 8 110 N2S=
1 6 0 14 -200 N4SJZ 10 4 50 W3H—f 8 6 300 048!12 10 4 90 NIN= 8 6 140 N3H= 4 10 -450 05S= 5 9 420 z4H= 8 110 N2S=
11 14 8 6 100 OSR—i 3 11 -140 W3H% 14 0 990 N4HQ+ 10 4 90 NIN= 13 12 2 170 N3Hfl 12 2 -420 048; 0 14 -50 Z4Hjl 8 110 N2S=
NZ OW| gift 21 NZ OW gift 22 NZ oW gift 23 NZ oW gift 24 NZ OW NZ Ow| gift 25 NZ OW gift 26 NZ OW gift 27 NZ oW gift 28 NZ oW
11 12 11 3 170 z3S+1 13 1 -170 W3H+1 10 4 1440 N6N= 9 5 90 ZIN= 13 14 14 0 400 W3N-4 12 2 100 W3R-1 8 6 450 N4H+1 3 11 -200 Z3S-
6 8 6 130 23R+£ 2 12 -660 OSNJZ 14 0 1680 N6NI= O 14 -200 N3N-4 4 10 -110 02R+f 5 9 -130 W3R+f 6 8 430 23N+f 8 6 -100 ZZS—f
14 11 3 170 ZSSJl 13 1 -170 WZHJZ 10 4 1440 N6N= 9 5 90 ZIN= 5 12 2 110 N3K=‘ 5 9 -130 02K+£ 3 11 420 N4H; 8 6 -100 ZZS—f
13 0 14 -110 WZHJ 10 4 -230 W3H+§ 1 13 620 N5R+1 14 170 N2H+2 10| 10 4 100 OSR—f 5 9 -130 W3R+f 0 14 400 ZSN; 14 0 800 OSHJ
9 4 10 100 W4H—£ 4 10 -650 W4H+f 10 4 1440 N6N= 12 2 140 N2HJ1 11 4 8 6 -90 O2R= 5 9 -130 02K+£ 12 2 460 ZSNJZ 3 11 -200 N5K;
15 10 4 10 100 W3H!Jl 8 6 -600 W3N= 1 13 620 N5R+1 9 -50 N3N—f 7 12 4 10 -110 O2R+1 14 0 200 WSNJZ 3 11 420 Z4H; 0 14 -300 ZSRJ
16 4 10 100 W4H—£ 0 14 -690 O3N+3 5 9 690 N3N+§ 2 12 -100 NZNJZ 15 6 0 14 -130 OSRJl 10 4 -110 W3R= 12 460 ZSNJZ 8 6 -100 N5K—f
4 14 0 620 Z4S% 6 8 -620 W4H=‘ 5 9 690 N3N+§ 5 9 -50 N2N—£ 3 16 4 10 -110 OSRz‘ 0 14 -630 OSNfl 12 460 ZSN#Z 12 2 50 O4H4




